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And this master maintains we do not make a decree

OVERVIEW

The X1IX XI1w°2 maintains that 3 1R°27W '2 are required to say 1"1192 (according to
727), and the NP9 between the "1 13127 (in all the cases of the 71wn where two
brought the v3) is that the 13127 are concerned Y2P%pP% 127 > &nw and therefore if
one MW did not say 1192 it is 9109, while >"1 maintains that we are not concerned
1P9P% 027 2 ®nw. There is a dispute between *"w2 and Moo as to when " is
not concerned for Y2P%pP% 127 NI RAW.
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>'""w9 explained that >'' did not make a decree (and invalidate the v in a case
where one m%w did not say 1"1192) out of concern that perhaps the matter will

revert to its initial ruinous status; the reason he is not concerned is because -
—1339 P%319%) N9 NNV XYT NNYIN NV N»NT 999 Y27

It is not common for two to deliver a ¥ and so the 3329 made no 7993,

mooIn disagrees with >"w7%:
— 91T KD ) N2 IT2ANT 19 Y99 DINI)

And it is unnecessary for °"w7 to explain it in this manner (that >"9 is not M3

since it is a X°ow X927 Xn?°n) for °"1 is not 913 even if one brought the va (which is a
X°OW7 Xn2°n and nevertheless he is not 2M3). M0 proves that according to °", there is no

requirement to say 11392 (on account of 7w?), because of the concern of 121 > KXW -
— 919NN DIV NNYV W92 ANI) 2392 XY AN DNNI 292 YVIYNY ProN NNY

For the X773 shortly concludes (that the Xn>72 which stated that *"3 was 712 7°won
12 X71) excludes the case where the m°%v said n''122 but not 2'"122, and the X3

explains the reason it is 7109 is because of X"v2 nM1LW 0P IBPAN -
— 9195599 927 MN RNAY NNRYO NP K9

But the X123 did not say the reason >"102 X% 9ax 11"'192 is 9100 because =1 Raw
Y2 PP M27; indicating that even by one mbw there is no concern (YW InRY) of MY KAW

"If "1 would maintain that by one m%® there is a concern of 17 Xnw then the X3 should have said that in the case
where the m%w said 5"192 but not 1"191 it is 7105 because of 2> Xnw (which is the reasoning of 727 why 1"1191 has to
be said 1727w nx?). Instead the X3 used the reason of *9171m°K? *nX (which is primarily the reasoning of X217 why
2"191 needs to be said). The fact that we are using the primary reason of X217 and not the reason of 727 (which is Xnw
77°) indicates that *"3 maintains there is no concern for M RAWY.
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according to >, only the concern of *7R.

moon explains why indeed the X 13 assumes that according to > there is no concern of KXW
117 even for one oW (which is a RowT XNMN) -
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And this is the reason, for the X973 assumed since the 3129 do not differentiate
and the make the 77713 of "1 2 ¥xnw whether it is one 75w or whether it is
two o'm>w, similarly -
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According to >''1 it does not seem logical to differentiate, for since he is not 913

by two o°m7w, the same will apply to one r>bw, that there is no concern of 927 17> Xnw
P9P5.

SUMMARY
"9 is not concerned for Y21P%P% 127 T XKW even by a single mHw.

THINKING IT OVER

moon concludes that according to the 1327 the concern of Y21P%P% 927 M KAW
applies to both one and two 2°m%w, while according to °"1 there is never such a
concern even by one m9w. Can we reconcile this with the X713 previously (X,7),
that there is a concern of M Xaw by one 15w, but not by two o m>w?’

* Seemingly there should be no 77°1 by two Dmbw (since it is a Xm*Ow X7 Xn7"1), and nevertheless the 1327 are 13,
indicating that regarding this 7713 it is irrelevant whether it is a RowWT Xn2» or a RPOW K77 XN2°1 (in all cases the
1137 are 1), similarly according to *"1 there is no difference whether it is a X°2w7 Xn? or not, in all cases he is not
am3. [Alternately, since there is an accepted rule that 7327 7°2 19713 X2 RPOW ®97 Xn?», we are forced to say that '2
03 W27 (according to the 1127) is a R*OWT RN?°1 (otherwise the 13137 would not be 7113 by two), therefore according
to "1 who is not 1) there is also no difference between one and two (it would not seem likely that they argue
whether 127w "2 is a X°OWT XN2°1 or not). See 7"nX # 93.]
? See 1"mn and X"wan.
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